Notations :

Question Paper Preview

1.Options showr in green color and with + icon are correct.

2 Options shown in red color and with #* icon are incorrect.

Question Paper Name:

Plant Assistant Electrical

Subject Name: Plant Assistant Electrical

Creation Date: 2018-12-24 12:56:43

Duration: 120

Total Marks: 100

Display Marks: No

Share Answer Key With Delivery Yes

Engine:

Actual Answer Key: Yes

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

Show Watermark on Console?: Yes

Highlighter: No

Auto Save on Console?: No

Plant Assistant Electrical

Group Number : 1

Group Id : 4028945

Group Maximum Duration : 0

Group Minimum Duration : 120

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Electrical
Section Id : 40289411
Section Number : 1
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 75
Number of Questions to be attempted: 75
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 40289411



Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 402894401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Which of the following semiconductor devices has this symbol?

Options :
, % LED

> % Transistor

3 « Zener diode

g4 #® uIT

Question Number : 1 Question Id : 402894401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

ffaad # ¥ #i9 ¥ 3d=Tee 39601 H I8 9 2 ar 87

Options :

| % T § ¥ (LED)

o x SHAET
S.me

g 3 & (UJT)

E

Question Number : 2 Question Id : 402894402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

What is the forward voltage drop in eV in silicon and germanium diode respectively?

Options :
. % 03,07

5 ¢ 07,03



s » 1,03

4 % 07,1

Question Number : 2 Question Id : 402894402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

aferea 3R sdTTE s & eV & 3wr deear 99 FHI: 4T 27
Options :

#0307

1

5 o 07, 03
. 108

& w02 1

Question Number : 3 Question Id : 402894403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

How many P-N junctions are there in Zener diode?

Options :
1 « One

> % Two
= % Three

4 #% Four

Question Number : 3 Question Id : 402894403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

A s # fae P-N S (§9H/E®) a9 272

Options :
1« Ueh

 wiEt

[0

3_%1_'?[?'-

4_%?1'IT

Question Number : 4 Question Id : 402894404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



The phase shift between the input and output signal in case of a common-emitter amplifier is:

Options :
| & 180°

5 % 270°
o W 0e

4 % 90°

Question Number : 4 Question Id : 402894404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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Options :

1« 180°

, % 270°
o W UD

4 W QUD

Question Number : 5 Question Id : 402894405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

There is/are stable state/states in stable multivibrator.

Options :
1 % one
- # two

3 « 1o stable states

4 % three

Question Number : 5 Question Id : 402894405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

v o sl # faw Rufeet & Fer fraet gt 2
Options :
1. % Th

glwfﬂ'



. » #18 TRy Thua =

4 % ol

Question Number : 6 Question Id : 402894406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Determine the charge stored in a capacitor of 2 uF when connected to a battery of 12 V.

Options :
.
1 24 uC

5 % 48 UC
g 12 puC

2

4 % 6 uC

Question Number : 6 Question Id : 402894406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

12V # 3e & 3 8 W 2 pF F Fuis § WRa dm&er &1 Fuwor w3

Options :

| 24 1C
5 % 48 pC
5 x 12 pC

4 % B uC

Question Number : 7 Question Id : 402894407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Which of the following relations is true in the case of a transistor?
Options :

L 8 e—Ig=1Ig

> % letlg=1Ig

z % Ie*Ip=1Ig

4\?’? IC+IB=IE



Question Number : 7 Question Id : 402894407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Zifereet & #Aoe # eafef@a # & &9 o g9y 57 22

Options :
L 8 e—Ig=1Ig

> % lctlg=1Ig
z % le*Ip=1I

4.\:’,5.‘- IC+[E=IE

Question Number : 8 Question Id : 402894408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

In the below circuit, the transistor is connected in which configuration?

Options :
1 « Common base PNP transistor

> % Common base NPN transistor
= % Common collector PNP transistor

4 % Common collector NPN transistor

Question Number : 8 Question Id : 402894408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
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P
I e ™ le

Options :

| v AT YR PNP gifaee



. « WHAET HIR NPN gifeee

. x AT F@IEs PNP Zifeeex

, « THAET HIEs NPN gifaee

Question Number : 9 Question Id : 402894409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

If R; =1kQ and R, =4 k€, find the output voltage. The input voltage is 10 V.

WVin
O

Question Number : 9 Question Id : 402894409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

o R, =1k HT R, =4 ke g, d@ BEE (EEE) S WA &) PRy (EFgE) SR 0 v R
Wity

Wout

Options :

1J8V

5 % 10 V



2% 25V

4 ® SV

Question Number : 10 Question Id : 402894410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of semiconductor layers in an SCR is:

Options :
1 ® one
> #® WO

z % three

4 « four

Question Number : 10 Question Id : 402894410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Afea-aT Teius (SCR) & -3=res WRar $1 T& et 2 &7
Options :
1. % Ueh

% &

[0

3_%%

Question Number : 11 Question Id : 402894411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Suppose a consumer consumes 1,000 W load per hour dmly for 24 hours contmuously for one month. Caleulate the total
energy bill of the consumer if the per unit rate is € 10/- . (Take 1 month = 30 days).

Options :
, ¢ T7.200

5 % 2400
2 u < 3.600

4 ® T5.400

Question Number : 11 Question Id : 402894411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



AF o & vF Te T @i & BT 24 99 3% a9 9T 1,000 W ST T 39T ST 2
ofg ofy gfee &1 a7 T 10/- &7 &1 ST & Fo 5= @ & o w1 (1 7 = 30 i)

Options :

. » T 7,200
. = ¥ 2,400
. = ¥ 3,600

, = ¥ 5,400

Question Number : 12 Question Id : 402894412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The full form of IGBT is:
Options :
, « Insulated-Gate Bipolar Transistor

- x Integrated-Gate Bipolar Transistor

- » lonised-Gate Bipolar Transistor

, = Intrinsic-Gate Bipolar Transistor

Question Number : 12 Question Id : 402894412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

IGBT & qUT &% 4T g7

Options :

i grgelcs-AIe ATFUeR ZIfa T (Insulated-Gate Bipolar transistor)
5 % sdPes-3Ie AU efaEeY (Integrated-Gate Bipolar Transistor)

. « HAAESE-IT Fgder IAEH (lonised-Gate Bipolar Transistor)

, « Sieci=He-3TT T8N ZTHEeT (Intrinsic-Gate Bipolar Transistor)

Question Number : 13 Question Id : 402894413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

State the correct relationship for Ohm’s Law.

Options :



| ¢ R=VI

> % R=VI
5 % [=VR
4 ® V=PR

Question Number : 13 Question Id : 402894413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

L ¢ R=V

> x R=VI

2% 1= VR

4+ % V=12R

Question Number : 14 Question Id : 402894414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If two resistors of 1 kQ and 3 kQ are connected in series, then what will be the equivalent resistance?

Options :
1 4 kO

Question Number : 14 Question Id : 402894414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ifg 1 kQ 3R 3 ke F & wfadter 4of &7 &7 3 & aF FAges gfary = gem?

Options :
1 W 4 kﬂ

. % 0.75 kQ

T ® 3 k@



4 %8 1 kQ

Question Number : 15 Question Id : 402894415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which law states — “The algebraic sum of all voltages within the loop must be equal to zero™?
Options :
; « Kirchoff’s voltage law

- % Kirchoff’s current law
z % Ohm'’s law

, = Faraday’s law

Question Number : 15 Question Id : 402894415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fre TR & 3ET, "I (FF) F T B Seeant & S T 4T AT e A
I 1

Options :

| v FREE FT deear FEA

x [ T awr RAEw

[0

« HER F TTH

LAl

4 ® mﬂﬁﬂﬁ

Question Number : 16 Question Id : 402894416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT a characteristic of a good cell?
Options :

, « Ithasvery high internal resistance.

- % Ithas very low internal resistance.

- % It has high and constant EMF.

4 % Itis free from polarisation.

Question Number : 16 Question Id : 402894416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

o 3EH HiA 3= HaRE Siady g g

1

, « 384 Ao e 3afs 9fady @ 7
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Question Number : 17 Question Id : 402894417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which type of bramg are assembled parts tymeally dipped m a heated chenneal bath which serves as both, a (luxmg
agent and a beat source o melt pre-applied filler material?

Options :
, « Dip brazing

- % Furnace brazing

- x Tlorch brazing

, = Induction brazing

Question Number : 17 Question Id : 402894417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

| v T ST
o« ST TS

Question Number : 18 Question Id : 402894418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT an example of a fixed resistor?

Options :



1 % Wire wound resistor
> % Carbon film resistor

-  Light dependent resistor

4 % Metal oxide film resistor

Question Number : 18 Question Id : 402894418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

, » ar af¥eq (am3s) whatus
o W WWW
-« e e gfees

uTg HedEs W (ew) wfadus

4 ®

Question Number : 19 Question Id : 402894419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the colour code for a 1 kQ resistor with + 5% tolerance?
Options :
| Brown, black, red, gold

- % Brown, red, gold. black
5 % Brown, black. red, silver

4 % Brown, black, violet, gold

Question Number : 19 Question Id : 402894419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

+ 5% WE=fear & WY 1 kQ ORI FT 3T He F47 87

Options :

- T, Hrel, A, Ag]

5 % T, @, FeAgT, el



L x S, T, ST, Fgel

4 #®

Question Number : 20 Question Id : 402894420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the unit of measurement of current?
Options :

1 ® Volt

o W Watt

= Ampere

4 % Ohm

Question Number : 20 Question Id : 402894420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e Fr AT Fr sHE T4 82

Options :

| % drec
E.WEFUE
E_Jﬁ’ﬁq'-ﬂ?
4, % HEH

Question Number : 21 Question Id : 402894421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which type of resistor is shown in the figure?

N

Options :
1 % Thermistor



- « Light-dependent resistor

- % Potentiometer

4 % Wire-wound resistor

Question Number : 21 Question Id : 402894421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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N

Options :

1_@35-1%
T fAeR gioRies

[

- ® TasTSATET

. dR 3ffeT (aEs) sfous

Question Number : 22 Question Id : 402894422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following relations is used to calculate power?

Options :

| & P=VI/
> % P=VR
s v P=TR
4 % P=V'R

Question Number : 22 Question Id : 402894422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

i #r 71oer gg Aol 7 @ BFw d@9u & g3 faar smar 22

Options :



L % P =V

VR

M
]
T

]

I’R

w
N
-

I

ETE P=V2R

Question Number : 23 Question Id : 402894423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The average rate of change of flux in a transformer is given as:

Options :
. 4oV

L x 0360,V

_ fo_V

L 200,V

Question Number : 23 Question Id : 402894423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 4f¢m V
o W Usfqu \%
o W ffat'm \

4 W 2f¢m \Y

Question Number : 24 Question Id : 402894424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The maximum flux density in a core of 250/3000-V 50-Hz smgle-phase transformer 15 1 x\'Eij: . If the emf per tum 15
£ W, determine the number of turns in the primary and secondary coils respectively.

Options :

| v 50,600



- w 600,50

4 % 60,5

Question Number : 24 Question Id : 402894424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

250/3000-V 50-Hz TFF-UR-AFT (7)) IH@ET ¥ = #F (F) § 3f0wmm yfiew (guem) a9

1whym?® 1 of Taegs aw+ 3= ofa &u 6 V § & srufas o gfadas $=< # & & 3= 79
Ead)

Options :

. » 50, 600
5 w5, 60
. » 600, 50

, » 60,5

Question Number : 25 Question Id : 402894425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the device shown in the figure.
B,
o2

L L%

Options :
1 % SCR

> % TRIAC
s % DIAC

4 « UIT

Question Number : 25 Question Id : 402894425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



P & @y 71T 39sHtor & g

BE
s

E /<“\
L
o
Bl
Options :
. % SCR
. % TRIAC
- » DIAC
4 v WIT

Question Number : 26 Question Id : 402894426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An alternator on open circuit generates 360V at 60 Hz when the field current is 3.6 A. MNeglecting the safurarion. determing
the open circuit emf when the frequency is 50 Hz and the field currentds 2.4 Al

Options :
L & 200V

> % 160V
s % 100V

4 % 180V

Question Number : 26 Question Id : 402894426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

L v 200 V

. % 160 V



- % 100 V

L % 180 V

Question Number : 27 Question Id : 402894427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The formula to calculate the total number of magnetic poles in an alternator is given by:
Where ,

P = total number of magnetic poles

N = rotative speed of the rotor in rpm

f = frequency of generated emf in Hz

Options :

, » P=(1200/N

, ® P=(120)N
. = P=(N)/(120D)

5 % P=(120/(8N)

Question Number : 27 Question Id : 402894427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Searatas H JEhrT Y3t HT Fo TEAIHT H A0EAT FIA HT G FT 87
fear &,

P = T@ra oar HT FHor TEAT
N = T FT goie =1fa (o wia Fae #)
f = 3eariea fega ags o #r 3gfed (Hz A)

Options :

. v P= (120N
. & P= (120N
.« P= (N)/(120f)

, x P= (120)/(fN)

Question Number : 28 Question Id : 402894428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is an example of an insulator?

Options :



1 % Gold
» % Copper
= % Silver

4  Paper

Question Number : 28 Question Id : 402894428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ffaf@a & & a1 fagga T &1 vs 3areor 82

Options :

1_%@7'”

o % dldl

3 ® auél

4 v P

Question Number : 29 Question Id : 402894429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Class E insulators can withstand temperatures of up to:

Options :
| % 90°C

> % 155°C
s % 180 °C

4 « 120°C

Question Number : 29 Question Id : 402894429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

9 E fagga o deh o dI9&HTT & TTHAT L Tohd 2|

Options :

. % 90 °C

, % 155 °C



s » 180 °C

1 o 12096

Question Number : 30 Question Id : 402894430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the form factor of a pure sinusoidal wave?

Options :
|« 111

> % 141
s = 0.707

E 1.73

Question Number : 30 Question Id : 402894430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Y€ FAEDT T (COR WISAHISSe 99) T HTPicd T0TR (FH HaFel) FT 872

Options :

| v 111
o % 1.41
- % 0.707

4 % 1.73

Question Number : 31 Question Id : 402894431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Electrie power of 220 W and 50 He 1s applied 1o a ¢oil with a negligible resistance and 0.4 H mductance. What is the
current in the circuit?

Options :

1 ® 2A

5 o LTSN
o W 1A

4 % 1L5A

Question Number : 31 Question Id : 402894431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



e JheRny (FREREe ) iR 0.4 H e & |y 220 V 3R 50 Hz #r Pegy ofw ww
FEoll 97 WYFA g1 TROY H °HT H 10 F)

Options :

1 ® 2 A
- v 175 A
3_%1#.

L% 15 A

Question Number : 32 Question Id : 402894432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which law gives the direction of electromotive force (emf)?
Options :
1 « Lenz law

> % Ohm’s law
- % Maxwell corkscrew law

, % Fleming law

Question Number : 32 Question Id : 402894432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fier @ A faggd aes sa (emf) Fr e var=r war 82

Options :

| o o e
5 ® mﬁmﬁ
- Hagao Slepsp 1 [

4 % FAHT #1 FTH

Question Number : 33 Question Id : 402894433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If two capacitors, each of 1 uF are connected in series, then what is the equivalent capacitance?
Options :
| % 2 uF



5 ® 1 uF
5 0.5 uF

4 % 025 pF

Question Number : 33 Question Id : 402894433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

uﬁ:nm#aﬂimﬁzréwﬁamﬁ%?ﬁ?ﬁmgmmﬁmﬁﬁm

Options :

| % 2 uF

s o 0.5 pF

. % 0.25 yF

Question Number : 34 Question Id : 402894434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following tvpes of transformer is shown in the figure?

N, T =3llen | ™\

Ei Primary ¢ Secondary E; /'I
Input Windings Windings Chutput
Voltage = E Vordltage

Options :
, w Step down transformer

-  Step up transformer
- % Center tap transformer

4 % Power transformer

Question Number : 34 Question Id : 402894434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



FFpia 7 Fafei@a # 8 g IR &1 aRonfEs (Sawiar) girar =@ 872

AV R | A

Secondary E; M /ll
Input | Windings < Cutput
Vaoltage Valtage

Windings l

Options :

| x HTEE (FET S34) TRONHT
. » T (FET 379) TRonfA

4 B ﬂlﬁﬁqﬁﬂﬂ'ﬁﬁ?

Question Number : 35 Question Id : 402894435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the resolution of a 3'/* digit display ona 10 V range?
Options :

{ « 001V

o W 0.1V

- % 0.0001V

4 % 0.001V

Question Number : 35 Question Id : 402894435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

10 V &@@T W 32 37 veda (BEe) & Refleqe (=) & gem?
Options :

. v 001V

. % 0.1V

- « 0.0001 V

. % 0.001V

Question Number : 36 Question Id : 402894436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



‘What is the full form of PMMC?
Options :
, « Permanent Magnet Moving Coll

- % Permanent Moving Magnet Coil

5 » Powerful Magnetic Movement Coll

, % Powerful Magnetic Moving Coil

Question Number : 36 Question Id : 402894436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

SreATHEET (PMMC) &7 0T §9 &7 g7
Options :

L qTHATAE HiAT ﬁﬁ?T Fr=er (Permanent Magnet Moving Coil)
5 % qTHATAT Hrj%l?T HaT Fed (Permanent Moving Magnet Coil)

Ly TG Hiafesw HAFHAT Fiser (Powerful Magnetic Movement Coil)

L v TG Haafes ST Figar (Powerful Magnetic Moving Coil)

Question Number : 37 Question Id : 402894437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following domestic appliances uses a magnetron?
Options :
1 « Microwave oven

-~ % Toaster
= % Electric bulb

4 % Washing machine

Question Number : 37 Question Id : 402894437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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o W E’IW
2 % iéaga god
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Question Number : 38 Question Id : 402894438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT a part of a washing machine?

Options :
| Compressor

- % Tub

- % Rofating disc

4 % Water inlet control valve

Question Number : 38 Question Id : 402894438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

l_gﬁtﬁﬁ

E.WH

- qute it (35F)

, x STl A (Fcie) Ag=ur Fure (ares)

Question Number : 39 Question Id : 402894439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 50 W lamp given a luminous flux of 1,500 lm. What will be its efficiency?
Options :

1 % 1500 Im/'W

> o 30 Im/'W

5 % 50 lm/'W



4 % 100 ImW

Question Number : 39 Question Id : 402894439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

50 W T T &mae (afT) 1,500 Im 1 soify wf@ee (reew) 291 81 ST 2a7ar ar gef?

Options :

. % 1500 Im/W

5 30 Im/W
- % 50 Im/W

4 % 100 Im/W

Question Number : 40 Question Id : 402894440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The unit of luminous intensity is:

Options :
1 % Lumen

- « Candela
= % Watt

4 ® Ampere

Question Number : 40 Question Id : 402894440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Foifa dgar i s T 27
Options :
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Question Number : 41 Question Id : 402894441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT an example of electric discharge lamps?

Options :



| « Filament vacuum type lamp
- % Cold cathode lamp
5 x Hot cathode lamp

, % Carbon arc lamp

Question Number : 41 Question Id : 402894441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

dq et afeer e (Treamde Sega ogg o)

1 W

, « HOTH FOMT & (FeZ FUS o)

. x O dcd HUMET &9 (1€ Sl =)

, « FE AT EIF (FTEA IHTF AT)

Question Number : 42 Question Id : 402894442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of watts available in a load circuit to the total watts generated is referred to as:
Options :
, » mechanical efficiency

-  electrical efficiency
- x overall efficiency

, % power efficiency

Question Number : 42 Question Id : 402894442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 43 Question Id : 402894443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The full form of UPS is:
Options :
, ® Universal Power Supply

- « Unintermptable Power Supply
- % Universal Power Stabiliser

4, % Unique Power Stabiliser

Question Number : 43 Question Id : 402894443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

UPS &T q0T Ta&9 T 872

Options :

—y L

qlATHA 9T gears (Universal Power Supply)

1 %

o HAsgoead 9l TeaAs (Uninterruptable Power Supply)

¥ L

JlAadHe 9ay Faels=l (Universal Power Stabiliser)

3 R

4 % TeATeh 91N aege (Unique Power Stabiliser)

Question Number : 44 Question Id : 402894444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A universal motor is used in a:
Options :
1 % fan

- x refrigerator

= « food mixer



, % Jetpump

Question Number : 44 Question Id : 402894444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1.%"ha
, « TiEE ()
S_JW‘:@?&%&%{Q\E@W}

4 % AT U9

Question Number : 45 Question Id : 402894445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Alternators are rated in:
Options :
1 ® W

e kV-A
= # HP

4. % A

Question Number : 45 Question Id : 402894445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

YoOTafaT (3eelaes) #r AT s uife & s &2

Options :

1 # kW
> v kV-A
T W HP

4 % A

Question Number : 46 Question Id : 402894446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The positive electrode in a dry cell is made of:



Options :
1 % Zinc

- % Ccopper
5 o carbon

4 % aluminum

Question Number : 46 Question Id : 402894446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

| TEa ()

o R F'WE“
5  FEA
T ATH

4 ® 2

Question Number : 47 Question Id : 402894447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the kK'VA rating of a 300 V- A load?
Options :
1 % 300kV-A

5 % 3.0kVA
s % 30kV-A

4« 03KV-A

Question Number : 47 Question Id : 402894447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

300 V-A X (313) kVA 3efAdis T 87

Options :

. % 300 kV'A

- % 3.0 KV'A



- % 30 kV'A

4 v 03 KV'A

Question Number : 48 Question Id : 402894448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the input of a load is 300 W and the load is 90% efficient, what is the output watts?
Options :

{ % 300V-A

o o 270 V-A

s % 333V-A

4 % S00V-A

Question Number : 48 Question Id : 402894448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tfe vF ¥R (71E) F HE (399) 300°W B # ST 90% S @1, & WA (weeTe) S F
e

Options :

. % 300 V'A
5w 270 V'A
- % 333 V'A

. % 500 VA

Question Number : 49 Question Id : 402894449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following type of DC motor is used for traction purposes?
Options :

1 % Shunt

> x Long shunt

= " Serles

4 % Short shunt

Question Number : 49 Question Id : 402894449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

o faega 39amT (1)
o &g fagga 39ART (22)

S_JM

oy faega 39AEr (2r)

4 %

Question Number : 50 Question Id : 402894450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In batteries. full-form of SLA stands for:
Options :
, « Sealed Lead-Acid battery

- % Sealed Large Ampere battery
- x Sealed Lead-Ampere battery

4 = Sealed Lithlum-Acid battery

Question Number : 50 Question Id : 402894450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

o Hies os-ufdE el (dergea wrar-3ma a2d)

_ Hies o UfPaay ded (diergea g UfPaaw ded)
.y Tos JEUETIR 4l (Heged W UER aed)

i u 908 sfargA-ufs 3l (Hrogea faas-are 32d)

Question Number : 51 Question Id : 402894451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the rating of battery if it delivers 4 A current for 20 hours.

Options :



1 « 80Ah
> % 160 A-h
T W 40 A'h

4 % 20Ah

Question Number : 51 Question Id : 402894451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

. v 80 Ah

. % 160 A'h
- » 40 Ah

. % 20 Ah

Question Number : 52 Question Id : 402894452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 220 % DO machine has armatore of resistance 1 €2, If the full<load armature current 15 10 A, find the induced emf when
machine acts as a genérator.

Options :
| & 230V

5 % 220V
3 % 200V

4 % 210V

Question Number : 52 Question Id : 402894452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T 220 V T umm mefE & 1 o 9w & s B O qutem widsw um 10 A R & F9 @i
== #1 iy F4 F & 3w T Egy " 7 79 F

Options :

L v 230V

. % 220 V



2 % 200 V

4% 210V

Question Number : 53 Question Id : 402894453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT an example of the application of shunt motor?
Options :
1 % Machine tools

- % Blowers and fans
- % Centrifugal pumps

4 + Elevators

Question Number : 53 Question Id : 402894453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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. sy (dfwtEan) 3t 9@

2.
z ® H-q;ﬁtiq

, v 3eTES (TRER)

Question Number : 54 Question Id : 402894454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the synchronous motor. what is the maximum value of the torque angle in the electrical degree?
Options :

1 ® 45

2« 90

= % 00

4 & 30

Question Number : 54 Question Id : 402894454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 & 45
> v 90
= # 60

E 30

Question Number : 55 Question Id : 402894455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which relayz are constructad with electrical, mechanical and magnetic components and have operatng coil and mechanical
coniacts?

Options :

, « Electromagnetic relays

> % Thermal relays
- % Solid state relays

, = Reedrelays

Question Number : 55 Question Id : 402894455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

| v s e
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4.

Question Number : 56 Question Id : 402894456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which type of switch is given below?

L1l

cCOoM

L)

Options :
| SPDT (Single Pole Double Throw)

- % DPDT (Dual Pole Double Throw)

- % DPST (Dual Pole Single Throw)

4 % SPST (Single Pole Single Throw)

Question Number : 56 Question Id : 402894456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1_Jﬁﬁmmﬁmﬁ(wgﬁrﬁm}

zlwgmqﬁﬂmﬁr{ﬁgﬁrm)

sUe drer fHeTer o (fyar Teer wETe)

3 ®

L foerer drer ferer of (TFer o T 9aTE)

Question Number : 57 Question Id : 402894457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Calculate the fuse rating for power of 1,000 W and voltage of 220 V.

Options :
, % 4.10A



67 A

Ln

2. o
= % 215A

4 % 1045A

Question Number : 57 Question Id : 402894457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1,000 W afa 3t 220 V deear & o wox segAas (&) $r o #:3

Options :

. % 4.10 A
. v 5.67 A
2 % 2.15 A

.« 1045 A

Question Number : 58 Question Id : 402894458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which type of tool is given below?

//

¢/

Options :

| « Wire stripper
- % Razor knife

- ® Nose pliers

4 % Hacksaw

Question Number : 58 Question Id : 402894458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 W mﬁw

o W mamr
L w SN coTad

4 W ‘HT'?I- (%a:\q}r;)

Question Number : 59 Question Id : 402894459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following tools is used to cut metals?
Options :

1 % Saw

> « Hacksaw

5 % Wire stripper

4 % Nose pliers

Question Number : 59 Question Id : 402894459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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o » oFEr
= W Hﬁfﬁw

L % AN Ty



Question Number : 60 Question Id : 402894460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An inverter circuit is used to convert:
Options :
, % ACvoltage to DC voltage

-  DC voltage to AC voltage
- % high frequency to low frequency

, % low frequency to high frequency

Question Number : 60 Question Id : 402894460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 61 Question Id : 402894461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Calculate the power in the given circuit.

E VY (:) 5 kL2 § L

Options :
1 « 180 mW

> % 200 mW
= % 150 mW

4 % 100 mW



Question Number : 61 Question Id : 402894461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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i
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Options :

| v 180 mW
o 200 mW
2 = 150 mW

L = 100 mW

Question Number : 62 Question Id : 402894462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following type of generators does NOT require equalisers for satisfactory parallel operation?
Options :
1 % Series

- % Compound
5  Under-compound

, % Over-compound

Question Number : 62 Question Id : 402894462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

| AT (@t
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Question Number : 63 Question Id : 402894463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘What is the current rating of Type-D plugs used for wiring in India?
Options :
1 Sk

o W 10 A
o W 15 A

4 ® 20A

Question Number : 63 Question Id : 402894463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

lvf’PSA
o % 10 A
2% 15 A

L% 20 A

Question Number : 64 Question Id : 402894464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the full form of STP in an STP cable?
Options :
1 « Shielded Twisted Pair

- % Shielded Turned Pair
= % Sealed Twisted Pair

4 % Sealed Turned Pair

Question Number : 64 Question Id : 402894464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

STP &aa # STP & qUI Ta®T T g7

Options :

| v oS 2faRE 9T (Shielded Twisted Pair)



, « o388 &8 9 (Shielded Turned Pair)
.« Hros ATz 3T (Sealed Twisted Pair)

, «» HIe8 &5 9 (Sealed Turned Pair)

Question Number : 65 Question Id : 402894465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How to classify (in Class) a fire that is caused by an ordinary combustible substance such as wood or paper?
Options :
1 ¢ Class A

- % Class B
=z % Class C

4 % ClassD

Question Number : 65 Question Id : 402894465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1&*315'!3«

o W mﬁ-B
o W El'n‘ﬁ'C
E El?ﬁ'D

Question Number : 66 Question Id : 402894466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the maximum power delivered by a plug of SA at 220V and 50 Hz supply?
Options :

| v LL1I00W

5 » L0O00OW

2 % 220W

4 % 100W



Question Number : 66 Question Id : 402894466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

220V 3 50 Hz 3myfe arer 5A & worT g@Rr & S Aol ifteas ufea fhaet gl 87

Options :

» 1,100 W

1

. » 1,000 W
5% 220 W

L« 100 W

Question Number : 67 Question Id : 402894467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The HRC in an HRC fuse stands for:
Options :
, = High Reverse Capacitance

> » High Reverse Capacity

2 o High Rupture Capacity

, = HighRupture Capacitance

Question Number : 67 Question Id : 402894467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

HRC ¥ & HRC #T qUT T&®T &7 87

Options :

.« @5 Raw® HAfFEH (High Reverse Capacitance)
, « &= f@w FIRAE (High Reverse Capacity)

. » &% {==T F3f8Er (High Rupture Capacity)

, « &% =R F9f&&F (High Rupture Capacitance)

Question Number : 68 Question Id : 402894468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT an example of single phase motor?

Options :



1 % Induction motor

- % Repulsion motor
-  Synchronous motor

4 % AC series motor

Question Number : 68 Question Id : 402894468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 ® ‘i’-{Uﬂ'mE'{

o W ‘Jﬁﬁ-’:lﬁ'ﬂTﬁﬁT
TodiTeles HieT

3.9 2

4 » SeamEdr emr Sof A

Question Number : 69 Question Id : 402894469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An open circuit occurs in a wiring system due to which of the following?

Options :
, w The system is working properly

- « A conductor is broken or separated

- % A fuse is installed

, % There is overloading in circuit

Question Number : 69 Question Id : 402894469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 70 Question Id : 402894470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Electrostatic effect is observed in:
Options :
| % DC ampere-hour meters

- % Ammeters and voltmeters

-  Voltmeters only

4 % Wattmeter

Question Number : 70 Question Id : 402894470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 71 Question Id : 402894471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Operating torque is also referred to as:
Options :

, « deflecting torque

- % damping torque

- » controlling torque

, % uncontrolled torque



Question Number : 71 Question Id : 402894471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 72 Question Id : 402894472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ihe reactance is offerad by a capacitor 10 an AC current of 50 Hz with a frequency of 10 £2. If the frequency 15 increasad o
100 Hz, what would be the reactance?

Options :
i & « L5 ]

> % 400
s % 250

4 % 200

Question Number : 72 Question Id : 402894472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
1.« 5 Q

oo 4052

4 ® 209

Question Number : 73 Question Id : 402894473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a thyristor, the firing angle is the angle at which the thyristor :

Options :



1 + starts conduction

- % stops conduction

= % attains a stable state

, % draws infinite current and gets damaged

Question Number : 73 Question Id : 402894473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 74 Question Id : 402894474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The essential component of a heater 15 an electrical element (a restsior) that converts electncal energy to heat energy. How
nnch current is drawn by a toaster with resistance of 10 £2 at 220 V7

Options :
L ¢ 22A

> % 20A
3 % ILA

E 10 A

Question Number : 74 Question Id : 402894474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

L v 22 A

o = 20 A



= % 11T A

4% 10 A

Question Number : 75 Question Id : 402894475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Three bulbs are connected 1o a 9 V battery as shown m the gure. Caleulate the total current supplied by the battery.

Tt 1sw |
9V 1 k) 20w
|'.}J' w1
Options :
1 % 45A
o o SA
o O A
E 10 A

Question Number : 75 Question Id : 402894475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 76 Question Id : 402894476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Vedic Goddess Usha was the goddess of:

Options :

1 % death
o % Crops
5 o dawn

, % night

Question Number : 76 Question Id : 402894476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e & 3w, s 7 & frmdr & o

Options :

L w TZ

o % TEeT @T
5 HEUNET #r
4 % T Hr

Question Number : 77 Question Id : 402894477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where was Shivaji crowned as the King of Marathas and bestowed the title of Chhatrapati?
Options :

, % Sinhagad

- % Pratapgad



5 % Vijaydurg

,  Raigad

Question Number : 77 Question Id : 402894477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 78 Question Id : 402894478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who was the first Asian to be elected as a member of the British Parliament from a British constituency?
Options :

1 # Sir Rustam Masani

-  Dadabhai Naoroji

- % Satyendra Nath Bose

4 % Dr. S Radhakrishnan

Question Number : 78 Question Id : 402894478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 79 Question Id : 402894479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is Valmiki Tiger Reserve located?
Options :

, # Chandrapur, Maharashtra

- » Ranthambore, Rajasthan
o West Champaran, Bihar

, % Lakhimpur Kheri. Uttar Pradesh

Question Number : 79 Question Id : 402894479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 80 Question Id : 402894480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following has been established for effective and expeditious disposal of cases relating to
environmental protection and conservation of forests and other namiral resources. inchiding enforcement of amy legal
night relatimg o environment and giving rehief and compensation for damages o persons and property for a related
matter?

Options :
 » Compensatory Afforestation Fund Management and Planning Authority

- x National Biodiversity Authority
- x National Environment Appellate Authority

4 « National Green Tribunal

Question Number : 80 Question Id : 402894480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 81 Question Id : 402894481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

According to the Constitution of India, which of the following is NOT correct?
Options :
. » Indiais a republic

- » Indiais a sovereign state

- % India is a democratic state

4 « Indiais a monarchy

Question Number : 81 Question Id : 402894481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 82 Question Id : 402894482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements about the Chairman and Deputy Chairman of Rajya Sabha is NOT correct?



Options :

. % The Deputy Chairman is elected by the Rajya Sabha from amongst its members.

Vice-President of India is the ex-officio Chairman of the

- % Rajya Sabha.

=

The salary of the Deputy Chaimman is chargéd on the Consolidated Fund of Ladia and is 0ot subject o the vole of the House.

q v

1

The Deputy Chainman can voie as 3 member on any question before the House even when he or she is presiding over the
howsa,

Question Number : 82 Question Id : 402894482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 83 Question Id : 402894483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is the main source of vitamin D?

Options :
, « Sunlight

> % Mineral Water
= % Carrots

, % Spinach

Question Number : 83 Question Id : 402894483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
o T F T

o % Wietst STef
3 % FMaN

4 % Hleleh

Question Number : 84 Question Id : 402894484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In July 2018, using a radar device mounted on the Mars Express QOrbiter Board of European Space Agency. a stable
bady of liquid water was found on Mars. The toal that was used for the discovery iz called:

Options :
| % Mars Hope

- % Mars Orbiter
= « MARSIS

4 % MARINER 4

Question Number : 84 Question Id : 402894484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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| % FEE
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Question Number : 85 Question Id : 402894485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The famous ‘Mahakaleshwar’ or *Mahakala® temple, that has existed since the ancient period, is located in:
Options :
1 % Haridwar



- % Varanasi
z % Nasik

4 Ujjain

Question Number : 85 Question Id : 402894485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 86 Question Id : 402894486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is Rani Ki Vav. the stepwell whose picture appears on the ¥ 100 notes that RBI is slated to issue?
Options :
| « Patan, Gujarat

- % Abhaneri, Rajasthan
= » Mehrauli, Delhi

4 % Laklundi, Karnataka

Question Number : 86 Question Id : 402894486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T=T Fr T17 (Rani Ki Vav), Sacvamar sz fova § B o, 3@, g3 58 &= & B
3T 100 T9% & FiEf or Teeed @A 37

Options :

i ;
| o T, T H

o w AL, TS A



. . B, R &

4%a@,mﬁ

Question Number : 87 Question Id : 402894487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The National Sports University Bill 20138, mtroduced by Sports and Youth Aftairs Mmister Col. Rajyavardhan Rathore,
envisages establishment of the first specialised sports university in India, will be located in:

Options :

1 % Himachal Pradesh

-  Manipur

= % Jammu and Kashmir

, % Chandigarh

Question Number : 87 Question Id : 402894487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 88 Question Id : 402894488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Tuly 2018 elections in Pakistan, former cricketer Imran Khan emerged a forerunner. Which of the following
political parties does Imran Khan belong to?

Options :

, w Pakistan Justice and Democratic Party (PJDP)

- % Pakistan Muslim I.eague (PML)



5  lehreek-e-Insaf party (PTI)

, % Pakistan People’s Party (PPP)

Question Number : 88 Question Id : 402894488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

| OieEde SfEew R $AREE Tt (PJDP)

, x TeREA FRESH w1 (PML)

. » TEF - T - FAH 9t (PTI)

| x TR Sqew 9rét (PPP)

Question Number : 89 Question Id : 402894489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When 5970 and 5260 are divided by the greatest numbeér®, the remainders are 7 and 9 respectively. When x is dividad by
16, the remainder is:

Options :
1 ® §)

2%7
3_%8

4.+ 9

Question Number : 89 Question Id : 402894489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Options :
1 ® 5

2_%?

3_%8



4 ¢ 9

Question Number : 90 Question Id : 402894490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The HCF and LCM of two numbers ave 21 and 4641 respectively. If one of the numbers lies berween 200 and 400, thep the
sum of digits of the other number is:

Options :
1 ® 10

e 12
o 13

E 17

Question Number : 90 Question Id : 402894490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 # 10

5 of 12
= # 13

EE 17

Question Number : 91 Question Id : 402894491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If x = JB +v8++B... andy = JB —+ 8 —+/8... , then which of the following is true?

Options :
; x x—y=0

4

- ® X—¥
- % Xx+ty==0

i wx—¥=1

Question Number : 91 Question Id : 402894491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
| % S 0

o % Xy =4
- % x+ty=20

s Xx7y=1
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V80—v12543v245 a : :
If = =3 where a and b are coprimes, then the value of va? + b? is:

vas+/e05+/245

Options :
1 & 26

o W 27

3. ¢ 29

Question Number : 92 Question Id : 402894492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Options :

1 ® 26
o W 27
= o 29

R 31

Question Number : 93 Question Id : 402894493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1.75%3.0625+0.5%2.5%(1.25)2 ,
1.75%1.75-1.25(1,75-1.25)

The wvalue of

Options :
1.¢ 3



Question Number : 93 Question Id : 402894493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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1.75%1.75—1.25(1.75—1.25)
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Options :
1. ¢ 3

2%2
T W 15

R 0.5

Question Number : 94 Question Id : 402894494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1 LA 1
= = 2= |s=of 1=

i
A student was asked to find the value of “2—24 —*  Hisanswer was — . What is the difference between his answer
3

and the comect answer? el
Options :
1. % 3
o
2
3 % 3
5
4 ® 12

Question Number : 94 Question Id : 402894494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 95 Question Id : 402894495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In an examination, 60%: of siudents passed in English and 70%s of students passed in Hindi. If 26%s of students failed in both
the subjects and the total pumber of students who passed is 476, then the total number of stadents appeared in the
examination is:

Options :
. ® 735

5 % 750
3 % 780

4« 850

Question Number : 95 Question Id : 402894495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

. % 735
- % 750
- % 780

. v 850

Question Number : 96 Question Id : 402894496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A shopkeeper sells hiz goods at a profit of 15%. If the cost price is reduced by 30%;, and the selling price is lowerad by 25%,
then what is the percentage profit on the new cost price of goods? (comect to one dacimal)

Options :
1 % 22.8

5 o 232



Question Number : 96 Question Id : 402894496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Options :

| % 22.8
» & 232
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Question Number : 97 Question Id : 402894497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A batsman's average score for a number of innumes1521.75 per mmngs. In the next three inmings, he scored 32, 37 and 30
mins and his average is incréased by 1,125, How many innings he played?

Options :
1 # 34

4.« 30

Question Number : 97 Question Id : 402894497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 ® 34
o W 32
= W 31

4 v 30



Question Number : 98 Question Id : 402894498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A sum of T 5,550 15 divided among A. B, C and D such that the ratio of shares of A and B 15 3 : 11, that of B and C 13
5 : 6 and that of C and D is 11 ;: @. What is the difference between the shares of B and D?

Options :
1.« ? 45

> % T135
5 % T495

4 % T540

Question Number : 98 Question Id : 402894498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

| v T 45
> % T135
2 & T495

4 # <540

Question Number : 99 Question Id : 402894499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The height of a nght circular evlmder 1s 12 ¢m. If three tmes the sum of the areas'of its two circular surfaces (top and
bottom) is two times the area of its curved surface, then its volume (in em?®) is:
Options :

1 % 720m
> o 168 T
5 % 1727

4 % 775m

Question Number : 99 Question Id : 402894499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Options :



1 % 720m
- o 768
2 % 7727

4 % 775m

Question Number : 100 Question Id : 402894500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 15 as efficient B and C together. If A and B can complete a task in 9 hours 36 minutes and C alone can finish the same
task in 48 hours, then in how many hours B alone will finish the same task?

Options :
1 ® 16

o W 18

g o 24

Question Number : 100 Question Id : 402894500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Options :

1 # 16
o W 18
T ® 20

4 v 24



